T TEHEEARE

(EHr— 6) FKEAMRE L

Fepr 1 BlKEAMR L

X[H 10101

B#1-1 RRV P ¢ 100 HO. 80

NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEHEkE=VE PR T VPAIE% L=L=1
$ 100 )= 1.000 m
2 WEEH(ke =B EBIRRT—7 L R T=1=1
6 100 g 1.000 m
3 FEIE —MR L IR T =11
g 1.000 m
4 FEF—b R T=1=1
150mm X 50m,// % 25 0IAF» J= 1.000 m
5 GEERREINT T AT 7V ML SHAEY) W T =545 9T R B« ARSI B =1%2+0
15emPL T )= 2.000 m
6 BEERRI5IRL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.002 m3 &hEEE=(1%2+0)*0. 023%0. 05
7 AREEAREUELURDA BHO0.20m3 AEERE A T =1 BB + T A N =1%0. 6+0
AAEIE 1 0cm LA T Vs 0.600 m2
8  ERLEANEUELAA BHO0.20m3 SREER A T =1 BexlE + I AN H =10, 6+0
EAEIE10emLA T B 0.600 m2
9 ‘&M BH0.20m3 PR THI=4E FxmE*%E=1%0. 6%0. 97
)= 0.582 m3
10 B R (kg ) BHO0.20m3 PR TUL=4E F*IE*4E=1%0. 6%0. 62
Iyioay bR g 0.372 m3
11 ERHEE (B E) BH0.20m3 P B T US=ZE FeslE#8=1%0. 6%0. 25
RC-40HL & + & 7 5 [E g 0.150 m3
12 B R (kg ) BHO0.20m3 PR TUA=E F*IE4E=1%0. 6%0. 12
M-303 & + & > 7 6 [E o g 0.072 m3
13 EEERE (WHER) BH0.20m3 PR RZERR CGHTRR &) =4 o8 Wi F=— 1% 1%0. 01
ryioay R LR )= -0.010 m3
14 FEEEIEMAIL As JFERA ALy (B HIER) =l A i Fif+ )5 X =0. 6%0. 05
)= 0.030 m3
15 ERRBEFEWALEL As BEA ALy (S 1) =Rl A ii FEk /R X =0. 6%0. 03
)= 0.018 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BER M (PR HED) =l i+ < =0. 6%0. 05
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.030 m3
17  PEREALFLEME BHO0.20m3 DTr4t BEAA T (A5 1) =Rl i Fe /R X =0. 6%0. 03
AsHll - Colifl (E5%) 2.0kmEA T DIDA g 0.018 m3
18 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B +R ) i 557%=0. 58
17 9.0kmEL F DIDA g 0.582 m3 2+0+0+00
19 Hh%ET (HEE-¥E)3cnl /@ A B =AE S E + I AR N =1%0. 6+0
BRI EAs I )= 0.600 m2
20 EfZE T (HEE-HJE) SenlfE ARAE |H=FE FoHlg + A N F=1%0. 6+0
HEBRIEAs 7 T745 P 0.600 m2




T TEHEEARE

(M8 — 6) Bl/KEAMBE L4

BEAR 1 Bl KB e L

X[ 10102 B&#E1-1 GX ¢ 100 HO.8 Wi A L1=137.0m
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAi% T.=L=137
$ 100 )= 137.000 m
2 RYTFLLR)—THET A T=1=137
6 100 g 137.000 m
3 R EWRT—T7 L R 1=1=137
$ 100 )= 137.000 m
4 Rk —MAR L B T=1=137
)= 137.000 m
5 A —h BHAR T=1=137
150mm X 50m, & 265471 5A L b= 137.000 m
6 EKEER WK RER=1=137
)= 137.000 m
7 EHEERRUINT T AT 7V MR SRAEY) W T =545 AT PR H S« AR BN BR=137%2+0
15ecmPA T g 274.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.315 m3 &HEEE=(137%2+0)*0. 023*0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB + I A N5 =137%0. 6+0
BHEEE10emA T B 82.200 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T =1 BexlE + I AN H=137%0. 6+0
EAEIE10emLA T B 82.200 m2
11 EFK4EHE] BHO0.20m3 PEH| THI=2E K +ig+8=1370. 6%0. 97
g 79.734  m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 2.820 m3 0.6%0. 2%47
13 EEHEE (W E) BH0.20m3 R TUL=AE R ik 78=137%0. 6%0. 62
Jysay R RE )= 50.964 m3
14 B RE (kg ) BH0.20m3 B T U3=SE g+ {E=137%0. 6%0. 25
RC-40H R + & L\ [ 6D Ve 20.550 m3
15 ‘B E (W E) BH0.20m3 PR T U4=JE Rex gk 78=137%0. 6%0. 12
M-30H & + &> S5 [E 6 g 9.864 m3
16 ISR (MR &) BH0.20m3 B T (GHETAR - J5550) =JE B A LeiEWasiZE A H+ & Fr#=0. 5%
Iyioay bR )= 2.820 m3 0.6%0. 247
17 EEERE BHER) BH0.20m3 PR RAZERR GHTRR &) =4 Fox & Wi f=—1%137%0. 011
Iyay R )= -1.507 m3
18 FREXPEEMALEL As BERA LSy (BEHIFR) =ik A i Fe /5 X =82. 2%0. 05
)= 4.110 m3
19  ERPEFEWALIL As FEAA ALy (A5 1R =R A i F + 5 X =82. 2%0. 03
)= 2.466 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERTE M (PR HIER) = A+ R X =82, 2*0. 05
AsBlL - CoBll (44%) 2.0knlL F DIDFA P 4,110 m3
21 FEFEAPLERE BH0.20m3 DTr4t BER T (AE 1H) =i R+ /R X =82. 2%0. 03
AsHil - Codifl (E55) 2.0kmPA T DIDA & 2.466 m3
22  ZE&AEH BH0.20m3 DTrdt T 3B HR=H1 4> +H245 +ik IR 4 (B +RIT) —ii2%%=79. 7
17 9.0kmLL F DIDA g 82.554 m3 34+0+2.82+00
23 AREET (BEE-HJE) 3cml IS 1B =4 F* g+ A I Hi=137%0. 6+0
HABRIEAs TT745 & 82.200 m2
24  EiZET (HEE-HJE) Senl/E ARAE IH=E S+ g+ E A N R =137*0. 6+0
HEBRIEAs 7 T7145 )= 82.200 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

Fepr 1 BlKEAMR L

X 10103 B#H1-1 GX ¢ 100 HI. 25 KB TE L=4.0m
NO b4,/ 3i#s -~k B g HAL EHEKX
1 SRSREAA R L A SR (B ) DIPAAGER L=L=4
$ 100 )= 4,000 m
9 RYZFLLRAY—T BT BT~
6 100 g 4.000 m
3 #EEE WU —7 L BIHR T=L=4
$ 100 )= 4,000 m
4 Rk —MAR L R T=L=4
)= 4.000 m
5 A —h AR T=L=4
150mm X 50m & 2fZ 410 iAFx b= 4,000 m
6 IEKEER EKERER=L=4
)= 4.000 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A - I B =4%2+0
15emlL T )= 8.000 m
8 BRI IRL SRS TR 7K AL B = (Bl S AE 40 I+ AR+ I BRD) *0. 023%
& 0.009 m3 &hTEE=(4%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AL T = BB + T A N =4%0. 6+0
SHEEIE10em LA T B 2.400 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T = BerlE + T A N H =40, 6+0
EAEIE10emLA T B 2.400 m2
11 EFK4EHE] BHO0.20m3 PR THI=4E FxMEsE=4%0. 6%1. 42
)= 3.408 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.120 m3 0.6%0.2%2
13 ERME (B RE) BH0.20m3 H 5 T U1 =4 e sligsie=4%0. 6%0. 62
Iyay R )= 1.488 m3
14 B RE (kg ) BH0.20m3 PR TU2=4E F*IE#4E=4%0. 6%0. 45
RC-40H R + & L\ [ 6D Ve 1.080 m3
15 ERME (B RE) BH0.20m3 P 5 T US=4E o sliEisife=4%0. 6x0. 25
RC-40#L & + & 7 5 E g 0.600 m3
16 B R (kg ) BH0.20m3 R TUA=FE FoxIE4E=4%0. 6%0. 12
M-308 & + & o7 S [E D g 0.288 m3
17 EEERE BHER) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{& Frkk=0. 5%
Iyay R b= 0.120 m3 0.6%0.2%2
18 B R (ki ) BHO0.20m3 B PERR GOk &) =1 5+ BT F=—1%4%0. 011
Iyiay bR g -0.044 m3
19  ERPEFEWALIL As . BEAA ALy (R EIER) =Rl i Fe /R X =2. 4%0. 05
)= 0.120 m3
20 EERRFEEMMNER As BER LSy (S 1E) =R A R IR X =2. 4%0. 03
)= 0.072 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (BE HITA0) =Rl R /R X =2. 4%0. 05
AsHil - Codifl (E55) 2.0kmPA T DIDA & 0.120 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERTEM (15 1R) =M A2 X =2. 4%0. 03
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.072 m3
23 ZA+TERE BH0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 43 (S +ll ) — #5485 =3. 40
T# 9.0kmLL T DIDA g 3.528 m3 8+0+0.12+00
24  EHZET (HEE-HJE) 3cnl/E IS |H=FE FHlg + I A TN R =4%0. 6+0
BABRIEAs 7745 Ve 2.400 m2
25 AEET (BE-HJE) Seml fE AAE |H=1E FH g+ I AR N H=4%0. 6+0
BRI EAs I )= 2.400 m2




T TEHEEARE

(M8 — 6) Bl/KEAMBE L4

BEAR 1 Bl KB e L

X[ 10104 B&#E1-1 G X ¢ 100 HO.80 Wi A 1=93.0m
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAH % T.=L=93
$ 100 )= 93.000 m
9 RYZFLLRAY—T BT B T=1=93
6 100 g 93.000 m
3 R EWRT—T7 L B R T=1=93
$ 100 )= 93.000 m
4 Rk —MAR L IR 1L=1L=93
)= 93.000 m
5 A —h B R 1=1=93
150mm X 50m & 2fZ 410 iAFx b= 93.000 m
6 EKEER WK FRER=1=93
)= 93.000 m
7 GHEERREINT T AT 7 MM AR SRAEY) B T =525 4T B0 B« ARSI =93%2+0
15ecmPA T g 186.000 m
8 BRI IRL SRS T 7K AL B = (Bl S AE 40 I+ AL+ I BRD) *0. 023%
& 0.214 m3 &%= (93%2+0)*0. 023%0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T = BB + T A IN=93%0. 6+0
BHEEE10emA T B 55.800 m2
10 AHEEAREUELFSHA BH0.20m3 SR A T = B & + T AN H=93%0. 6+0
EAEIE10emLA T B 55.800 m2
11 EFK4EHE] BHO0.20m3 PE | THI=2E F* g +E=93%0. 6%0. 97
g 54.126 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 2.100 m3 0.6%0.2%35
13 ERME (B RE) BH0.20m3 H B T U1 =4E 55 7ZE=93%0. 6%0. 62
Jysay R RE )= 34.596 m3
14 B RE (kg ) BH0.20m3 PR T U3=ZE R+ g *42=93%0. 6%0. 25
RC-40H R + & L\ [ 6D Ve 13.950 m3
15 ‘ERMEE (B RE) BH0.20m3 H B T U4A=4E 55 ZE=93%0. 6%0. 12
M-30H & + &> S5 [E 6 g 6.696 m3
16 ISR (MR &) BH0.20m3 B T (GHETAR - J5550) =JE B A LeiEWasiZE A H+ & Fr#=0. 5%
Iyioay bR )= 2.100 m3 0.6%0. 2%35
17 EEERE BHER) BH0.20m3 PR RAZERR CHTRR &) =4I Fox 8 W i f=— 1%93%0. 011
Iyay R g -1.023 m3
18 FREXPEEMALEL As BERA LSy (BEHIFR) =l A4 i F+ /5. X =55. 8%0. 05
)= 2.790 m3
19  ERPEFEWALIL As . FEAA ALy (A5 1R =R Ak i F + 5 X =55. 8%0. 03
)= 1.674 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERE M (PR HIER) = A A+ & X =55. 8*0. 05
AsBlL - CoBll (44%) 2.0knlL F DIDFA P 2.790 m3
21 FEFEAPLERE BH0.20m3 DTr4t BERS T (AE 1H) =l FE+ /5 X =55. 8+%0. 03
AsHil - Codifl (E55) 2.0kmPA T DIDA & 1.674 m3
22  ZE&AEH BH0.20m3 DTrdt B 3B HR=H1 4> +H24y +ik TR 4 GBS+ i =54. 1
+# 9.0kmLL T DIDAH g 56.226 m3 26+0+2. 1+00
23 AREET (BEE-HJE) 3cml IS 1B =JE S g+ I AR I 5H=93%0. 6+0
HABRIEAs TT745 & 55.800 m2
24  EHEET (HE - BJE) SemlfE ARAE |H=FE FoHlg + I AE N H=93%0. 6+0
HEBRIEAs 7 T7145 )= 55.800 m2




T TEHEEARE

(M8 — 6) Bl/KEAMBE L4

BEAR 1 Bl KB e L

X[# 10105 B&#HR1-1 K ¢ 100 HO. 80
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAH % T=L=1
$ 100 )= 1.000 m
9 RYZFLLRAY—T BT EHiRTIAL=]
6 100 g 1.000 m
3 #EEE WU —7 L EI/RT=L=1
$ 100 )= 1.000 m
4 FEER— MRk T EHR =LA
)= 1.000 m
5 A —h AR T=L=1
150mm X 50m & 2fZ 410 iAFx b= 1.000 m
6 EHIERRUINT TAT7 VMRS SREEY) T T =52 4 R R AR B I = 15240
15emPL T B 2.000 m
7 BEERIGIRAL AL TR K AL Bl = (Bl EE AT B4 S+ AL+ I D) *0. 023+
b 0.002 m3 &%= (1%2+0)*0. 023%0. 05
8  ERLEANEUELAA BHO0.20m3 SRR A T =1 BexlE + I AN H=1%0. 65+0
AHIEE10emPA T P 0.650 m2
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB + T AN =1%0. 65+0
BHEEE10emA T & 0.650 m2
10 ‘FHEHI BHO0.20m3 JEHI THI=AE E-+E*E=1%0. 65%0. 97
)= 0.631 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
5 0.195 m3 0.65%0.2%3
12 B R (kg ) BHO0.20m3 PR TUL=4E F*IE*4E=1%0. 65%0. 62
Iyioay bR g 0.403 m3
13 ERHEE (B RE) BH0.20m3 H B T US=4E E 5 ZE=1%0. 65%0. 25
RC-40HL & + & 7 5 [E g 0.163 m3
14 B RE (kg ) BH0.20m3 R TUA=E F#IE*4E=1%0. 65%0. 12
M-303 & + & > 7 S [E o )= 0.078 m3
15 EEERE (R R) BH0.20m3 PR T (T4 - JES0) =4 & A LaigEWaskiZE A Hxf& AT =0. 5%
7yiar AR g 0.195 m3 0.65%0.2%3
16 B RE (kg ) BH0.20m3 B PERR GOk &) =1L K+ W F=—1%1%0. 011
Iyioay bR g -0.011 m3
17 ERBEFEWALEL As JFEAA AL 53 (B HIER) =R Ak i F + 5 X =0. 65%0. 05
)= 0.033 m3
18 FREXPEEMALEL As BER LSy (A5 1B =ik i FEe 5. X =0. 65%0. 03
)= 0.020 m3
19  PEREALFLEME BH0.20m3 DTr4t BERA T (BE 10 =i R+ /2 X =0. 65%0. 05
AsHil - Codifl (E55) 2.0kmPA T DIDA & 0.033 m3
20 PEPRNLEEEHE BHO0.20m3 DTrdt BERA T (15 1) =ik A FE+ 5 X =0. 65%0. 03
AsBlL - CoBll (44%) 2.0knlL F DIDFA P 0.020 m3
21 %4 +1EHE BH0.20m3 DTr4t 7% L E =1 53 +H2 45 Hik T8 4y (S HAll ) — iS4 =0. 63
T# 9.0kmLL T DIDA )= 0.826 m3 1+0+0. 195+00
22 EiZE T (FE-HJE) 3cnl/E IAE |H=FE FoHlE + I AE TN =1%0. 65+0
HAEBRIEAs 7I945 P 0.650 m2
23 EREET (BEE-HJE) SemlfE AAE |H=1E FH g+ I AR I H=1%0. 65+0
HABRIEAs TT745 & 0.650 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

Fepr 1 BlKEAMR L

o

XA 10121 P&HR1-1 - BP - &S H1.2 L0.75 *W1.0
NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SRAED) B =545 AT B PR H S« AR BN =0, 75%2+1
15ecmPL T )= 2.500 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
5 0.003 m3 &EfzEE=(0. 75%2+1)*0. 023*0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I A NS =0. 75%1+0
AAEIE 1 0cm LA T Vs 0.750 m2
4 EREERNEUELAA BHO0.20m3 SRR T =JE g+ T AR N 5=0. 75%1+0
EAEE10emLA T B 0.750 m2
5 KEEY b BUREKHY PE | THI=E Kl +%8=0. 75%1*0. 628
ANT] 5 0.471 m3
6 ‘FIHEE] BHO0.20m3 Y T H2=JE R+ Mg*i4e=0. 75%1%0. 942
)= 0.707 m3
7 RHEY T BSEIRHY PREHIIERR (5 =1 F+4 Wi fE=—1%1%0. 011
ANTJ 5 -0.011 m3
8 AT (B OCHR - BAE 1) SRR TR T=ER=0.75
LAm<<HRHNE=1.8m ~Nvrikug|ik s 0.750 m
9 EEME (B RE) BH0.20m3 H B T U1 =4E 55 ZE=0. T5%1%0. 82
Iyay R ER g 0.615 m3
10 B R (kg ) BHO0.20m3 R TU2=FE K #ig+%8=0. 75%1%0. 4
RC-40H R + & o\ [ 6D Ve 0.300 m3
11 ERHEE (B E) BH0.20m3 H B T US=4E E 5% ZE=0. T5%1%0. 25
RC-40HL & + & 7 5 [E g 0.188 m3
12 B R (kg ) BHO0.20m3 PR T U4=2E R+ igsi48=0. 75%1%0. 12
M-30HE B + & SH [E 8 = 0.090 m3
13 EEERE (WHER) BH0.20m3 PR RZERR CHTRR ) =4 Fox 8 W i f=—1%0. 75%0. 011
Iyay R g -0.008 m3
14 EFRFEIEME As BER LS5 (BRAEIER) =R AR X =0. 75%0. 05
)= 0.038 m3
15 ERRBEFEWALEL As . BER L5y (S 1H) =il FE+ /8 X =0. 75%0. 03
)= 0.023 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BERE My (PR HIER) = A+ R X =0. 75%0. 05
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.038 m3
17  PEREALFLEME BHO0.20m3 DTr4t BERS T (AE 1H) =i FE+ /R X =0. 75%0. 03
AsHll - Colifl (E5%) 2.0kmEA T DIDA g 0.023 m3
18 &4 5@ BHO0.20m3 DTrdt T 1 ER=T1 45 +H2 45+ T4 45 (B HA ) 3574 =0. 47
+# 9.0kmLL T DIDA g 1.167 m3 1+0.707+0+0-0.011
19 Hh%ET (HEE-¥E)3cnl /@ IS 1B =JE FH g+ I AR N H=0. 75%1+0
BRI EAs I )= 0.750 m2
20 EfZE T (HEE-HJE) SenlfE ARAE |H=FE FoHlg + I AE N R =0. 75%1+0
HEBRIEAs 7 T745 P 0.750 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

Fepr 1 BlKEAMR L

o

X[E 10122 P&HR1-1 - EP - A& H1.2 L0.75 *W1.0
NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SRAED) B =545 AT B PR H S« AR BN =0, 75%2+1
15emPL T )= 2.500 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
5 0.003 m3 &EfzEE=(0. 75%2+1)*0. 023*0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I A NS =0. 75%1+0
AAEIE 1 0cm LA T Vs 0.750 m2
4 EREERNEUELAA BHO0.20m3 SRR T =JE g+ T AR N 5=0. 75%1+0
EAEE10emLA T B 0.750 m2
5 KEEY b BUREKHY PE | THI=E Kl +%8=0. 75%1*0. 628
ANT] 5 0.471 m3
6 ‘FIHEE] BHO0.20m3 Y T H2=JE R+ Mg*i4e=0. 75%1%0. 942
)= 0.707 m3
7 R (R R A - B ) SRR T T=ER=0.75
L5m<#EHIE=<1.8m ~'v/&v5|ik s 0.750 m
8 BB (FEhE I ) BHO.20m3 R T UL=3E R+ EiZE=0. 75%1%0. 82
Tyiay AR g 0.615 m3
9 EEME (B R) BH0.20m3 H B T U2=4E E 5% ZE=0. 75%1%0. 4
RC-40# & + & 7 5 [E g 0.300 m3
10 B R (kg ) BHO0.20m3 PR T U3=ZE R+ g *42=0. 75%1%0. 25
RC-40H R + & o\ [ 6D Ve 0.188 m3
11 ERHEE (B RE) BH0.20m3 H B T U4A=4E E x5 7ZE=0. T5%1%0. 12
M-30H & + &> i [E 6 g 0.090 m3
12 B R (kg ) BHO0.20m3 B PERR GOk &) =1 5+ W FE=—1%0. 75%0. 011
Iyioay bR g -0.008 m3
13 EEZEEIEMIR As - FER LG5 (B HIES) =R i Fe /5 < =0. 75%0. 05
)= 0.038 m3
14 FERFEEMLI As BER LSy (A5 18) =ik A FEe 5. X =0. 75%0. 03
)= 0.023 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI =i R+ /R X =0. 75%0. 05
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 0.038 m3
16 PFEREALEEM: BH0.20m3 DTr4t BERA T (15 1) =il FEe 5 X =0. 75%0. 03
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.023 m3
17 FAE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +ll ) — #5485 =0. 47
T# 9.0kmLl T DIDA )= 1.178 m3 1+40.707+0+00
18 Ei¥ET (HE-HJE)3cnl)E IAE B =FE FoHlE + I AE N =0. 75%1+0
HEBRIEAs 7 T745 P 0.750 m2
19 &h%ET (HEE-¥E)5eml /& AAE IH=JE FHIg+ I AR INH=0. 75%1+0
BRI EAs I )= 0.750 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

Fepr 1 BlKEAMR L

X[H 10201

BHR1-2 GX ¢ 75 HO. 85  IHrifB

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAAgER 1.=L=8
o 1500 Vs 8.000 m
9 RYZFLLRAY—T BT EHiRT=1=8
O T5LLT g 8.000 m
3 HEE BT —7 L B/ RT=1-8
675 )= 8.000 m
4 Rk —MAR L AR T=1=8
)= 8.000 m
5 A —h AR T=1=8
150mm X 50m & 2fZ 410 iAFx b= 8.000 m
6 IEKEER H/KERER=1=8
)= 8.000 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A - I =8 %240
15emlL T )= 16.000 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 4 I+ AR+ I BRD) *0. 023%
& 0.018 m3 &hZE[E=(8%2+0)*0. 023%0. 05
9 AREEREUELFHA BH0.20m3 AL T = BB + T A N =8%0. 6+0
SHEEIE10em LA T B 4,800 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T = BerlE + T A N H=8%0. 6+0
EAEIE10emLA T B 4.800 m2
11 EFK4EHE] BHO0.20m3 PR THI=AE FexgE*=8+%0. 6%0. 99
)= 4.752 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.240 m3 0.6%0.2%4
13 ERME (B RE) BH0.20m3 P T U1 =4 o sligsiZe=8%0. 6%0. 59
Iyay R g 2.832 m3
14 B RE (kg ) BH0.20m3 R TU2=4E F*IE*4=8%0. 6%0. 05
RC-40H R + & L\ [ 6D Ve 0.240 m3
15 ERME (B RE) BH0.20m3 P 5 T US=4E JosliEsife=8%0. 6%0. 25
RC-40#L & + & 7 5 E g 1.200 m3
16 B R (kg ) BH0.20m3 R TU4A=FE F*IE4E=8%0. 6%0. 12
M-308 & + & o7 S [E D )= 0.576 m3
17 EEERE BHER) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{& Frkk=0. 5%
Iyay R b= 0.240 m3 0.6%0.2%4
18 B R (ki ) BHO0.20m3 PR BEPERR GOk &) =1L Ko+ Wi i FE=—1%8%0. 007
Iyiay bR g -0.056 m3
19  ERPEFEWALIL As BEAA ALy (R EIER) =Rl i Fe /R X =4. 8%0. 05
)= 0.240 m3
20 FERRBEIEMALE As BER LSy (S 1E) =i RIS X =4. 8%0. 03
)= 0.144 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (BE 10 =i R+ /R X =4. 8%0. 05
AsHil - Codifl (E55) 2.0kmPA T DIDA & 0.240 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERTEM (15 1R) =M A2 X =4. 8%0. 03
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.144 m3
23 ZA+TERE BH0.20m3 DTr4t 7 - IEHR=H1 53 +H2 53 ik TR 4y (IS +llm) — #5485 =4. 75
T# 9.0kmLL T DIDA g 4.992 m3 2+0+0. 24+00
24  EHZET (HEE-HJE) 3cnl/E IS |H=FE FHIlg + I A TN L =8%0. 6+0
BABRIEAs 7745 Ve 4,800 m2
25 AEET (BE-HJE) Seml fE AAE |H=1E FHIE + I AR N H=8%0. 6+0
BRI EAs I )= 4,800 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

Fepr 1 BlKEAMR L

X[H 10202

M#1-2 HPPE ¢ 50 HO. 85

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ARI=FUL 8 SRS Mz T PEAi % T=L=1
® 50 )= 1.000 m
2 M=FLUE EHRT—7 L BHR T=L=1
6 50 g 1.000 m
3 AEERS —MER T AR T=L=1
g 1.000 m
4 FEF—b BHRT=1=1
150mm X 50m,// % 25 0IAF» J= 1.000 m
5 GEERREINT T AT 7V ML ST T =52 A P e A B I B =1%2+0
15ecmPL T )= 2.000 m
6 BEERRI5IRL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
sy 0.002 m3 EhEEE=(1%2+0)*0. 023%0. 05
7 AREEAREUELURDA BHO0.20m3 AEERE A T =1 BB + T A N =1%0. 6+0
AAEIE 1 0cm LA T Vs 0.600 m2
8  ERLEANEUELAA BHO0.20m3 SREER A T =1 BexlE + I AN H =10, 6+0
EAEIE10emLA T B 0.600 m2
9 FHHEH| BHO0.20m3 PR THI=AE Fexg@*i=1%0. 6%0. 96
)= 0.576 m3
10 B R (kg ) BHO0.20m3 PR TUI=AE E+g*%E=1%0. 6%0. 56
Iyioay bR g 0.336 m3
11 BB E (W E) BH0.20m3 MR TU2=FE R #E+E=1%0. 6%0. 05
RC-40HL & + & 7 5 [E g 0.030 m3
12 B R (kg ) BHO0.20m3 R TUS=4E F*Ig*4E=1%0. 6%0. 25
RC-40H R + & L\ [ 6D 2 0.150 m3
13 EHHEE (W E) BH0.20m3 MR TUA=HE R #E+E=1%0. 6%0. 12
M-30H & + &> S5 [E 6 g 0.072 m3
14 EEEHERE (M R) BH0.20m3 PR BEPERR GOk &) =4E K48 Wi i fE=—1%1%0. 003
Iyiay bR g -0.003 m3
15 EEERBEIEMMEL As BEAA ALy (R EIER) =Rl i Fe /R X =0. 6%0. 05
)= 0.030 m3
16 TEFRFEIEMNE As BERT ALY (A8 1R) =it i A& X =0. 6%0. 03
)= 0.018 m3
17  PEREALFLEME BHO0.20m3 DTr4t BERA T (BE 10 =l FE+ /R X =0. 6%0. 05
AsHll - Colifl (E5%) 2.0kmEA T DIDA g 0.030 m3
18 PEREALEEIERE BH0.20m3 DTr4t BERTEM (15 1R) =i fd* /= X =0. 6%0. 03
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.018 m3
19 FAE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +llm) — #5485 =0. 57
T# 9.0kmLL T DIDA )= 0.576 m3 6+0+0+00
20 EiZE T (HEE-HE) Senl/E A8 |H=FE FHlig + I A N =1%0. 6+0
HEBRIEAs 7 T745 P 0.600 m2
21 EREET (BEE-HJE) SemlfE A IH=1E FHIE+ I AR N H=1%0. 6+0
BRI EAs I )= 0.600 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

Fepr 1 BlKEAMR L

10 H

X[# 10221 B&#R1-2 « EP - B HEAKE HO.8 L0.5 *W0.8
NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SHAED) B T =545 AT B R H S« AR BN =0, 5%2+0. 8
15emPL T )= 1.800 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
5 0.002 m3 EfZEE=(0.5%2+0. 8)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AREERE A T =1 BB + I AN 5E=0. 5%0. 8+0
AAEIE 1 0cm LA T Vs 0.400 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 FexlE + I AN =0. 5%0. 8+0
EAEE10emLA T B 0.400 m2
5 RHEY T BSHIRKHY P THI=2E R+ ig+%8=0. 5%0. 8%0. 444
ANT] 5 0.178 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=4E F-xE*i%=0. 5%0. 8*%0. 666
)= 0.266 m3
7 ERIERE (B ) BHO.20m3 H BT TU1=4E Ee 5 ZE=0. 5%0. 8%0. 76
Iioay R LR )= 0.304 m3
8 BB (Fhg I ) BHO.20m3 MR T US=HE Fexfigix42=0. 5%0. 8%0. 25
RC-40H R + & o\ [ 6D Ve 0.100 m3
9 EEME (B R) BH0.20m3 H B T UA=4E Ee g Z8=0. 5%0. 8%0. 12
M-30H & + &> i [E 6 g 0.048 m3
10 B R (kg ) BHO0.20m3 PR PERR GOk &) =1L K+ Wi i Ff=—1%0. 5%0. 003
Iyioay bR g -0.002 m3
11 ERRBEFEWALEL As . BEAA ALy (R EIER) =Rl i Fe /R X =0. 4%0. 05
)= 0.020 m3
12 FERPFEIEMLIE As BER LSy (A5 1E) =Rl FEe IS X =0. 4%0. 03
)= 0.012 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BE HIFA0) =l i R /R X =0. 4%0. 05
AsHil - Codifl (%) 2.0kmPA T DIDA & 0.020 m3
14 PEREALEEIERE BH0.20m3 DTr4t BEM TR (A H) =R A= X =0. 4%0. 03
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.012 m3
15 A +5#EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +lm) -~ 545 =0. 17
T# 9.0kmLL T DIDA )= 0.444 m3 8+0.266+0+00
16 Ei%ET (HE-KE)3ml)E A8 IH=4E K+ g+ EAE N 5i=0. 5%0. 8+0
HEBRIEAs 7 T745 P 0.400 m2
17 & T (EE-¥E)5eml /& AAE IH=4E F* g+ A I =0, 5%0. 8+0
BRI EAs I )= 0.400 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

Fepr 1 BlKEAMR L

X[# 10401 P&#R1-1+BP -

11 H

HIEDOHL. 2 L2.0 *W1.0

NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L B ToL-2
g 2.000 m
2 BEEERT—h R T=1=2
150mm X 50m,// % 25 Hr0IAF» J= 2.000 m
3 GHEERREINT T AT 7 VM SHAEY) W T =525 0T R B« ARSI =2%2+2
15ecmlL T )= 6.000 m
4 BEFRI5IRAL SRS T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
& 0.007 m3 &hTEE=(2%2+2)*0. 023%0. 05
5 AHLEAREUELURDA BHO0.20m3 AEERE A T =1 BB + I AN =2%1+0
SRR 10em L T B 2.000 m2
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BerlE + T AN =2%1+0
EAEE10emLA T B 2.000 m2
7 KRR b BUREKHY PR THI=AE B *i=2%1%0. 46
ANTJ 5 0.920 m3
8 FIHEHI BHO0.20m3 PR TH2 =7 -+l % 42=2%150. 69
)= 1.380 m3
9 EEIERE (WHIERE)BH0.20m3 PR B T U =% sl Z8=2%150. 4
Iyay R ER g 0.800 m3
10 B R (kg ) BHO0.20m3 PR TU2=4E R #E=2%1%0. 4
RC-40H R + & o\ [ 6D Ve 0.800 m3
11 ERMR (B ) BHO.20m3 PR B T US=%E sl 78=2%1%0. 25
RC-40M &+ Z L ki [ED g 0.500 m3
12 B R (kg ) BHO0.20m3 PR TU4A=FE B *=2%1%0. 12
M-303 & + & > 7 6 [E o = 0.240 m3
13 EEERBEIEMMEL As . BEAA ALy (R HIED) =Rl i Rk X =2%0. 05
)= 0.100 m3
14 EFRFEIEME As BERT ALy (A8 1R) =it i Al X =2%0. 03
)= 0.060 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI = R+ /B X =2%0. 05
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 0.100 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BEM TE R (A8 1H) =T A2 X =2%0. 03
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.060 m3
17 FAE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (S +llm) — #5485 =0. 92
T# 9.0kmLl T DIDA g 2.300 m3 +1.38+0+00
18 A% T (HEE - #E) 3cm 1)@ IAE B =E S g+ E A I =24 1+0
HEBRIEAs 7 T745 P 2.000 m2
19 &h%ET (HEE-¥E)5eml /& AAE IH=IE F* g+ A I H=2%1+0
FAEBRIEAs 744 )= 2.000 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

Fepr 1 BlKEAMR L

X[H 10402 BEHR1-1 - HEE

12 H

« APJEOHL. 2 12.0 *W1.0

NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L B ToL-2
g 2.000 m
2 BEEERT—h R T=1=2
150mm X 50m,// % 25 Hr0IAF» J= 2.000 m
3 GHEERREINT T AT 7 VM SHAEY) W T =525 0T R B« ARSI =2%2+2
15ecmlL T )= 6.000 m
4 BEFRI5IRAL SRS T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
& 0.007 m3 &hTEE=(2%2+2)*0. 023%0. 05
5 AHLEAREUELURDA BHO0.20m3 AEERE A T =1 BB + I AN =2%1+0
SRR 10em L T B 2.000 m2
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BerlE + T AN =2%1+0
EAEE10emLA T B 2.000 m2
7 KRR b BUREKHY PR THI=AE B *i=2%1%0. 46
ANTJ 5 0.920 m3
8 FIHEHI BHO0.20m3 PR TH2 =7 -+l % 42=2%150. 69
)= 1.380 m3
9 EEIERE (WHIERE)BH0.20m3 PR B T U =% sl Z8=2%150. 4
Iyay R ER g 0.800 m3
10 B R (kg ) BHO0.20m3 PR TU2=4E R #E=2%1%0. 4
RC-40H R + & o\ [ 6D Ve 0.800 m3
11 ERMR (B ) BHO.20m3 PR B T US=%E sl 78=2%1%0. 25
RC-40M &+ Z L ki [ED g 0.500 m3
12 B R (kg ) BHO0.20m3 PR TU4A=FE B *=2%1%0. 12
M-303 & + & > 7 6 [E o = 0.240 m3
13 EEERBEIEMMEL As . BEAA ALy (R HIED) =Rl i Rk X =2%0. 05
)= 0.100 m3
14 EFRFEIEME As BERT ALy (A8 1R) =it i Al X =2%0. 03
)= 0.060 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI = R+ /B X =2%0. 05
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 0.100 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BEM TE R (A8 1H) =T A2 X =2%0. 03
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.060 m3
17 FAE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (S +llm) — #5485 =0. 92
T# 9.0kmLl T DIDA g 2.300 m3 +1.38+0+00
18 A% T (HEE - #E) 3cm 1)@ IAE B =E S g+ E A I =24 1+0
HEBRIEAs 7 T745 P 2.000 m2
19 &h%ET (HEE-¥E)5eml /& AAE IH=IE F* g+ A I H=2%1+0
FAEBRIEAs 744 )= 2.000 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

Fepr 1 BlKEAMR L

13 H

XIH 10403 B&#R1-1 - KT - 3HE H1.20 L2.0 *W1.0
NO 4/ 3k ~HE B g HAL EHEKX
1 BEEERRUINT TAT7V MRS AL UIWT T =525 Ak = B I R A BN =2%2+2
15emPL T )= 6.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4R I+ AR+ I BRD) *0. 023%
& 0.007 m3 &hTEE=(2%2+2)*0. 023%0. 05
3 AHREMRIBUELADA BHO.20m3 Al R T =4 S+ RIS =2%1+0
SEEEE 1 0em L T g 2.000 m2
4 EEERRBUELEIA BHO0.20m3 SRR T =JE g+ T A N B =2% 1+0
EAEE10emLA T B 2.000 m2
5 EIHEEI] BHO0.20m3 PR THI=AE Eex@sig=2%1%1. 15
)= 2.300 m3
6 E UL (FhgIEL ) BHO.20m3 SR TUL=AE Forfia=2 140, 4
RC-40H R + & L\ [ 6D Ve 0.800 m3
7 EHOILR (B R) BHO.20m3 LR TU2=AE Rk R=251%0. 4
RC-40HE 2 + &> 7 S5 [E D = 0.800 m3
8 BB (Fhg I ) BHO.20m3 MR T US=HIE i x4e=2%1%0. 25
RC-40H R + & o\ [ 6D Ve 0.500 m3
9 EHMLR (B ) BHO.20m3 LR TUASAE RoHiff=2%1%0. 12
M-308 5 + Z o7 il [ 6D = 0.240 m3
10 FERFEEMLIE As BEAA LS5 (BRI ) =Rl i x5 X =2%0. 05
)= 0.100 m3
11 ERRBEFEWALEL As . BEA ALy (AE 1) =Rl ri Rk X =2%0. 03
)= 0.060 m3
12 PEREALEEIERE BH0.20m3 DTr4t BERAE My (PR D) =l i+ = < =2%0. 05
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.100 m3
13 PEREALFLEME BH0.20m3 DTrdt BEAA T (S 1) =Rl i Rk X =2%0. 03
AsHil - Codifl (%) 2.0kmPA T DIDA & 0.060 m3
14 FAE5EH BH0.20m3 DTrat B L ERR=H1 53 +H2 53+ TR PR 43 S+l ) —ti 58 =2. 3+
17 9.0kmLL F DIDA g 2.300 m3 0+0+00
15 &% T (A0 - #)H) Sem 1 (AR 1A =4 S+ AR NS =2%1+0
FAEBRIEAs 744 )= 2.000 m2
16 Sl T (HE - &) Sem 1 )= AR |H=E Ko E+E A N R =2%1+0
HEBRIEAs 7 T745 P 2.000 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

Fepr 1 BlKEAMR L

X[# 10404 BEHR1-1 « HAE

14 H

cRAPE@ HL.2 12.0 *W1.0

NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L B ToL-2
g 2.000 m
2 BEEERT—h R T=1=2
150mm X 50m,// % 25 Hr0IAF» J= 2.000 m
3 GHEERREINT T AT 7 VM SHAEY) W T =525 0T R B« ARSI =2%2+2
15ecmlL T )= 6.000 m
4 BEFRI5IRAL SRS T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
& 0.007 m3 &hTEE=(2%2+2)*0. 023%0. 05
5 AHLEAREUELURDA BHO0.20m3 AEERE A T =1 BB + I AN =2%1+0
SRR 10em L T B 2.000 m2
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BerlE + T AN =2%1+0
EAEE10emLA T B 2.000 m2
7 KRR b BUREKHY PR THI=AE B *i=2%1%0. 46
ANTJ 5 0.920 m3
8 FIHEHI BHO0.20m3 PR TH2 =7 -+l % 42=2%150. 69
)= 1.380 m3
9 EEIERE (WHIERE)BH0.20m3 PR B T U =% sl Z8=2%150. 4
Iyay R ER g 0.800 m3
10 B R (kg ) BHO0.20m3 PR TU2=4E R #E=2%1%0. 4
RC-40H R + & o\ [ 6D Ve 0.800 m3
11 ERMR (B ) BHO.20m3 PR B T US=%E sl 78=2%1%0. 25
RC-40M &+ Z L ki [ED g 0.500 m3
12 B R (kg ) BHO0.20m3 PR TU4A=FE B *=2%1%0. 12
M-303 & + & > 7 6 [E o = 0.240 m3
13 EEERBEIEMMEL As . BEAA ALy (R HIED) =Rl i Rk X =2%0. 05
)= 0.100 m3
14 EFRFEIEME As BERT ALy (A8 1R) =it i Al X =2%0. 03
)= 0.060 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI = R+ /B X =2%0. 05
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 0.100 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BEM TE R (A8 1H) =T A2 X =2%0. 03
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.060 m3
17 FAE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (S +llm) — #5485 =0. 92
T# 9.0kmLl T DIDA g 2.300 m3 +1.38+0+00
18 A% T (HEE - #E) 3cm 1)@ IAE B =E S g+ E A I =24 1+0
HEBRIEAs 7 T745 P 2.000 m2
19 &h%ET (HEE-¥E)5eml /& AAE IH=IE F* g+ A I H=2%1+0
FAEBRIEAs 744 )= 2.000 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

Fepr 1 BlKEAMR L

X[# 10405 PB&#HR1-1 « EP -

15 H

HIEG HL.2 12.0 *W1.0

NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L B ToL-2
g 2.000 m
2 BEEERT—h R T=1=2
150mm X 50m,// % 25 Hr0IAF» J= 2.000 m
3 GHEERREINT T AT 7 VM SHAEY) W T =525 0T R B« ARSI =2%2+2
15ecmlL T )= 6.000 m
4 BEFRI5IRAL SRS T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
& 0.007 m3 &hTEE=(2%2+2)*0. 023%0. 05
5 AHLEAREUELURDA BHO0.20m3 AEERE A T =1 BB + I AN =2%1+0
SRR 10em L T B 2.000 m2
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BerlE + T AN =2%1+0
EAEE10emLA T B 2.000 m2
7 KRR b BUREKHY PR THI=AE B *i=2%1%0. 46
ANTJ 5 0.920 m3
8 FIHEHI BHO0.20m3 PR TH2 =7 -+l % 42=2%150. 69
)= 1.380 m3
9 EEIERE (WHIERE)BH0.20m3 PR B T U =% sl Z8=2%150. 4
Iyay R ER g 0.800 m3
10 B R (kg ) BHO0.20m3 PR TU2=4E R #E=2%1%0. 4
RC-40H R + & o\ [ 6D Ve 0.800 m3
11 ERMR (B ) BHO.20m3 PR B T US=%E sl 78=2%1%0. 25
RC-40M &+ Z L ki [ED g 0.500 m3
12 B R (kg ) BHO0.20m3 PR TU4A=FE B *=2%1%0. 12
M-303 & + & > 7 6 [E o = 0.240 m3
13 EEERBEIEMMEL As . BEAA ALy (R HIED) =Rl i Rk X =2%0. 05
)= 0.100 m3
14 EFRFEIEME As BERT ALy (A8 1R) =it i Al X =2%0. 03
)= 0.060 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI = R+ /B X =2%0. 05
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 0.100 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BEM TE R (A8 1H) =T A2 X =2%0. 03
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.060 m3
17 FAE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (S +llm) — #5485 =0. 92
T# 9.0kmLl T DIDA g 2.300 m3 +1.38+0+00
18 A% T (HEE - #E) 3cm 1)@ IAE B =E S g+ E A I =24 1+0
HEBRIEAs 7 T745 P 2.000 m2
19 &h%ET (HEE-¥E)5eml /& AAE IH=IE F* g+ A I H=2%1+0
FAEBRIEAs 744 )= 2.000 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

BEAR 1 AR KB AR T

X[H 10901

BEER1-1F5 KPP ¢ 20 HO.7  30ffF L=82.6m

NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T AR T=1=82. 6
J= 82.600 m
2 Mk —b HHRLA.-82.6
150mm X 50m,/ & 2fZH11iA F» V= 82.600 m
3 GHEERREINT T AT 7 VM SRAEY) B T =545 9T AR B« AR IN =82, 6%2+0
15ecmPA T g 165.200 m
4 BEFRI5IRAL SRR ) T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
5 0.190 m3 &fzEE=(82. 6%2+0)*0. 023*0. 05
5 AHLEAREUELURDA BHO0.20m3 EEMR M T =S g+ T A N 5 =82. 6%0. 6+0
AAEIE 1 0cm LA T Vs 49.560 m2
6 AEAREUELFA BH0.20m3 SREER A T =1 BorlE +IE A INH=82. 6%0. 6+0
EAEE10emLA T B 49.560 m2
7 EIKHEEI] BHO0.20m3 PEH THI=2EFR*IEE=82. 6%0. 6%0. 78
)= 38.657 m3
8 BB (FEhE I ) BHO.20m3 R TUL=AE R+ E%E=82. 6%0. 6x0. 43
Tyiay AR g 21.311 m3
9 EHHEE (W) BH0.20m3 R TUS=AE R+l +E=82. 6%0. 6%0. 25
RC-40# & + & 7 5 [E )= 12.390 m3
10 B R (kg ) BHO0.20m3 IR TU4=FE R #ig+72=82. 6%0. 6%0. 12
M-30 & + & > 7 S [E o g 5.947 m3
11 EEERE R R) BH0.20m3 PR RZERR CHTRR &) =4I Fox % W i F=— 1%82. 6%0. 001
Iyioay R LR )= -0.083 m3
12 EERBEEMALE As BER LS5 (FRAEINER) =Tk A+ /2 X =49. 56%0. 05
)= 2.478 m3
13 EEERBEIEMMEL As BERT ALy (A8 1R) = APk A+ X =49. 56%0. 03
)= 1.487 m3
14 PEPRALHER: BH0.20m3 DTrdt BERA TE R (PR ANER) =Tk A+ X =49. 56%0. 05
As3lL - CoBll (44%) 2.0knlL F DIDFA P 2.478 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (5AE 1) =i A FE+ /R X =49. 56%0. 03
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 1.487 m3
16 J&4& &R BHO0.20m3 DTrat B B Me=H1 57 +H2 o5 Hik T8 40 (A +Al ) - #5445 =38. 6
17 9.0kmLL F DIDA g 38.657 m3 57+0+0+00
17 ST (HEE-#E)3cnl /@ A B =E S E+ I AR I H=82. 6%0. 6+0
BRI EAs I )= 49.560 m2
18 Ei%ET (HIE-HJE)Senl)E ARAE |H=E FoHlg + AR N R =82. 6%0. 6+0
HEBRIEAs 7 T745 = 49.560 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

BEAR 1 AR KB AR T

17

DXl 10902 B&BR1-1  FA/KEPP ¢ 25 HO.70 2ff
NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L B ToL=7
g 7.000 m
2 FEET—b R T=1=7
150mm X 50m,// % 25 Hr0IAF» J= 7.000 m
3 GHEERREINT T AT 7 VM ST T =52 A P e A B I B =T%2+0
15emPL T )= 14.000 m
4 BEFRI5IRAL SRS T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
& 0.016 m3 &hTE[E=(7%2+0)*0. 023%0. 05
5 AHLEAREUELURDA BHO0.20m3 AEERE A T = BB + T A N =7%0. 6+0
AAEIE 1 0cm LA T Vs 4.200 m2
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BerlE + I AN H=T7%0. 6+0
EAEE10emLA T B 4.200 m2
7 EIKHEEI] BHO0.20m3 PR THI=AE Fex@*i=7%0. 6%0. 78
)= 3.276  m3
8 BB (FEhE I ) BHO.20m3 MR TUL=4E Rl 4e=7+0. 6%0. 43
Tyiay AR g 1.806 m3
9 EEME (B R) BH0.20m3 P B T US=ZE FeslE2=7%0. 6%0. 25
RC-40# & + & 7 5 [E )= 1.050 m3
10 B R (kg ) BHO0.20m3 PR TUA=SE F*IEE=T%0. 6%0. 12
M-30 & + & > 7 S [E o g 0.504 m3
11 EEERE R R) BH0.20m3 PR RRAZERR CHTRR &) =4I Fox 8 W i F=— 1% 7%0. 001
Iyioay R LR )= -0.007 m3
12 FEREEIEMAIL As JFERA ALy (B HIER) =Rl A Fif+ )5 X =4. 2%0. 05
)= 0.210 m3
13 ERRBEFEMALEL As . BEA AL S5 (S R =R A i Fix 5 & =4. 2%0. 03
)= 0.126 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE My (R D) =i i+ < =4. 2*0. 05
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.210 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl i FEe /R X =4. 2%0. 03
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 0.126 m3
16 &4 5@ BHO0.20m3 DTrdt T 1 ER=H1 45 +H2 45+ T4 45 (B HR ) 5574 =3. 27
17 9.0kmLL F DIDA g 3.276 m3 6+0+0+00
17 ST (HEE-#E)3cnl /@ IS B =AE FH g+ I AR N A =7%0. 6+0
BRI EAs I )= 4,200 m2
18 Ei%ET (HIE-HJE)Senl)E ARAE |H=FE FoHlg + AR N H=T%0. 6+0
HEBRIEAs 7 T745 P 4.200 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

BEAR 1 AR KB AR T

XIE 10903 B&HR1-1  #7/K%  SSP¢ 40 HO.70 144
NO b4,/ 3i#s -~k B g HAL EHEKX
1 RNIZFLUE ATV AHE BT figg L=L=3.5
6 40 )= 3.500 m
2 Rk —MAR L IR L=L=3.5
)= 3.500 m
3 AT —b BHART=1=3.5
150mm X 50m & 262410 iA Fx b= 3.500 m
4 EHIERRUINT T AT 7 VMRS SRS T T =E 2 4 R PR AR B N B =3, 5%2+0
15emPL T B 7.000 m
5 BEERIGIRAL AL TR 7K AL BR= (Bl EE AT B4 3+ A+ IR *0. 023%
b 0.008 m3 &M= (3. 5%2+0)*0. 023%0. 05
6 ERLERNEUELAA BHO0.20m3 SREER A T =1 BexlE + I AN =3. 5%0. 6+0
EAEE10emLA T B 2.100 m2
7 AREEAREUELURDA BHO0.20m3 AEERE A T =1 BB + I AN E=3. 5%0. 6+0
AAEIE 1 0cm LA T Vs 2.100 m2
8 FIHEHI BHO0.20m3 P T H1=4E -l *E=3. 5%0. 6%0. 8
)= 1.680 m3
9 EEME (B RE) BH0.20m3 H B TU1=4E Ee g ZE=3. 5%0. 6%0. 45
Iioay R LR )= 0.945 m3
10 B R (kg ) BHO0.20m3 R TUS=4E F*IE*4E=3. 5%0. 6%0. 25
RC-40H R + & o\ [ 6D Ve 0.525 m3
11 BB E (M E) BH0.20m3 PR T U4=JE Rex gk 78=3. 5%0. 6%0. 12
M-30H & + &> i [E 6 g 0.252 m3
12 B R (kg ) BHO0.20m3 B PERR GOk &) =4 5+ Wi F=—1%3. 5%0. 001
Iyioay bR g -0.004 m3
13 EEZEEIEMIR As - BERA MLy (Bl IS ) = fe i Fif+ )5 S =2. 1%0. 05
)= 0.105 m3
14 FEEEIEMAIL As FEAL ALy (AR 1R =Rl i Fif+ )= X =2. 1%0. 03
)= 0.063 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI =R R /R X =2. 1%0. 05
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 0.105 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BEM TR (A8 H) =R A= X =2. 1%0. 03
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.063 m3
17 FAE+5EME BHO0.20m3 DTr4t B - TEHR=H1 53 +H2 53 ik TR 4y (IS +lm) -t 545 =1. 68
+# 9.0kmLL T DIDA g 1.680 m3 +0+0+00
18 Ei¥ET (HE-HJE)3cnl)E IAE H=4E F+ g+ EFE N 5i=3. 5%0. 6+0
HEBRIEAs 7 T745 P 2.100 m2
19 &h%ET (HEE-¥E)5eml /& AAE IH=IE F* g+ A I Hi=3. 5%0. 6+0
FAEBRIEAs 744 )= 2.100 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

BEAR 1 AR KB AR T

19 H

XIE 10904 B&HR1-1  #/7/K%E  SSP¢ 50 HO.70 144
NO b4,/ 3i#s -~k B g HAL EHEKX
1 RNIZFLUE ATV AHE BT figg L=L=1.9
® 50 )= 1.900 m
2 B —MiRT EHRLALY
)= 1.900 m
3 AT —b BHAR T=1=1.9
150mm X 50m & 262410 iA Fx b= 1.900 m
4 EHIERRUINT T AT 7 VMRS SRS T =Hl 2 0 R PR AR B N B =1, 9%2+40
15emPL T B 3.800 m
5 BEERIGIRAL AL TR K AL BR= (Bl EEAE B4 I+ AL+ IR *0. 023+
b 0.004 m3 EHEEE=(1.9%2+0)*0. 023%0. 05
6 ERLERNEUELAA BHO0.20m3 SRR T =1 BexlE+ AN =1. 9%0. 6+0
EAEE10emLA T B 1.140 m2
7 AREEAREUELURDA BHO0.20m3 AEERE A T =1 BB+ I A NS =1. 9%0. 6+0
AAEIE 1 0cm LA T Vs 1.140 m2
8 FIHEHI BHO0.20m3 P T H1=4E B+ E*E=1. 9%0. 6%0. 81
)= 0.923 m3
9 EEME (B RE) BH0.20m3 HBE T UL =4 Ee g ZE=1. 9%0. 6%0. 46
Iioay R LR )= 0.524 m3
10 B R (kg ) BHO0.20m3 PR TUS=4E F*IE*4E=1. 9%0. 6%0. 25
RC-40H R + & o\ [ 6D Ve 0.285 m3
11 BB E (M E) BH0.20m3 PR T U4=JE Rk ik i8=1. 9%0. 6%0. 12
M-30HR R + &/ [ o )= 0.137 m3
12 B R (kg ) BHO0.20m3 B PERR GOk &) =4 K+ Wi ff=—1%1. 9%0. 002
Iyioay bR g -0.004 m3
13 EEZEEIEMIR As - FER LGy (B HIES) =R i Fe /5 < =1. 14%0. 05
)= 0.057 m3
14 FERFEEMLI As BER LSy (A5 1B =Rk FEe 5 X =1. 14%0. 03
)= 0.034 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (BRI =R R+ /R X =1. 14%0. 05
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 0.057 m3
16 PFEREALEEM: BH0.20m3 DTr4t BERA T (15 1) =Rk A FEe 5 X =1. 14%0. 03
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.034 m3
17 FAE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (IS +llm) — #5485 =0. 92
18 9.0kmLL T DIDA )= 0.923 m3 3+0+0+00
18 Ei¥ET (HE-HJE)3cnl)E IAE IH=E F+ g+ E A N =1 9%0. 6+0
HEBRIEAs 7 T745 P 1.140 m2
19 &h%ET (HEE-¥E)5eml /& AAE IH=IE F+ig+ A I H=1. 9%0. 6+0
FAEBRIEAs 744 )= 1.140 m2




T TEHEEARE

(EHr— 6) FKEAMRE L
BEAR 1 AR KB AR T

20 H

XM 10911 #/KEN 620 HO.5 A& 1=12.5m 8

NO 4/ 3k ~HE B g HAL EHEKX
1 R R BIEHIRHY PEH| THI=ZE F*ig+%E=12. 5%0. 5%0. 5
ANTJ 2 3.125 m3
2 HRL BGHKLHY T MR TUI=SE R+ E+R=12. 5%0. 5%0. 5
ffi[E O ML 2 3.125 m3
3 ERL BEHKSHY T PR RZERR CHTRR &) =4 Fox & Wi f=— 1% 12. 5%0. 001
FEE O ML b -0.013 m3
4 F&A5ERE BHO0.20m3 DTrdt B B =1 50 +H2 45 Hik 48 43 (0 Rl — B =3. 12
+# 9.0kmLL T DIDH = 3.125 m3 5+0+0+00




T TEHEEARE

(EHr— 6) FKEAMRE L
BEAR 1 AR KB AR T

21 =]

XM 10912 #A/KEN 620  HO.5%19.5m Coffi 13147

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EEERRGINT v Y- MEREERR EEEDIWT T =1 B+ AR S+ INB=19. 5%2+6. 5
15ecmPA T B 45.500 m
2 BRI IRAL SRR T 7K AL B = (BEE AE 4 I+ AL+ I BRD) *0. 023%
= 0.105 m3 EfidEE=(19. 5%2+6. 5)*0. 023%0. 1
3 AEEERRAAE U r)-MEEERR PR AEERE A T =1 BB+ I AN =19. 5%0. 5+0
BEXEVABE 15emPL T g 9.750 m2
4 FRYEY T BUGHIKHY JEHE TH1=JE F+tg*E=19. 5%0. 5%0. 4
A B 3.900 m3
5 HWRL BGH™HY L B T U= #lE%155=19. 5%0. 5%0. 4
FRE O ML b 3.900 m3
6 HERFEEWOIE 5 Co BERA ALy (BEH IR =il At F /5 X =9. 75%0. 1
)= 0.975 m3
7 PEREALPLEME BH0.20m3 DTrdt JBERA T (HE 130 =i FE+ & X =9. 75%0. 1
AsHll - Codifl (%) 2.0kmEA T DIDA & 0.975 m3
8  FAEJEME BHO0.20m3 DTrdt B L ERR=H1 53 +H2 53 Hik TR PR 43 S+l ) —ti 58 =3. 9+
+# 9.0kmLL T DIDH = 3.900 m3 0+0+00
9 a2 rU—hOUNUEEY) ANJITER
18-8-25(20)BB — &A= b 1.000 m3




T TEHEEARE

(EHr— 6) FKEAMRE L

BEAR 1 AR KB AR T

22 H

XM 10913 #A/KEWN ¢ 20 HO.5 ASC L=7.5m 5cm 5

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHEERRGIWT T AT 7V SRAED) B T =545 IR s AR BN R=T7. 5%2+2. 5
15ecmPL T )= 17.500 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
5 0.020 m3 EfZEE=(7.5%2+2. 5)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =7. 5%0. 5+0
SEE 1 0em L T 2 3.750 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 BexlE + AN F=7. 5%0. 5+0
EEEE 10em L T b 3.750 m2
5 RHEY T BSHIRKHY P THI=4E R+ lg+%E="7. 5%0. 5%0. 45
ANT] 5 1.688 m3
6 HERL JGHKIHY T PR TUISERHEHER=T. 5%0. 5%0. 47
fri[E O ML Ve 1.763 m3
7 ERPEFMLIE As . BER L5y (BR HIFAR) =il R+ /8 X =3. 75%0. 05
g 0.188 m3
8 IRFRFEIEME As BER LSy (A5 1B =k A Fe 5. X =3. 75%0. 03
g 0.113 m3
9 PEREALFLEWE BH0.20m3 DTrdt BERA T (BE IS =il R /R X =3. 75%0. 05
AsHil - Colifl (E55) 2.0kmEA T DIDA & 0.188 m3
10 FEREALEEM: BH0.20m3 DTr4t BERA T (15 1) =k A FEe 5 X =3. 75%0. 03
AsBlL - CoBll (44%) 2.0knlL F DIDFA JE 0.113 m3
11 ZAE+5#EME BHO0.20m3 DTr4t 7 1T R=H1 53 +H2 53 ik TR 4y (IS +lm) -t 545 =1. 68
T# 9.0kmLL T DIDA g 1.688 m3 8+0+0+00
12 HEET (HE-KE)3al)E IAE IH=E S+ g+ E A I B=T7. 5%0. 5+0
HEBRIEAs T745 P 3.750 m2
13 &fdE T (HEE-¥E)5eml /& A IH=IE F* g+ A I H=7. 5%0. 5+0
FAEBRIEAs 744 )= 3.750 m2




T TEHEEARE

(EHr— 6) FKEAMRE L

BEAR 1 AR KB AR T

23 H

XM 10914 #37/KEPNSSP ¢ 50 HO. 70 ASC 5cm L1.5m

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SHAED) B T =545 9T B AR B« AR InBE=1. 5%2+0. 6
15emPL T )= 3.600 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
5 0.004 m3 EfZEE=(1.5%2+0.6)*0.023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I A NS =1. 5%0. 6+0
AAEIE 1 0cm LA T Vs 0.900 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1E BexlE+ AN F=1. 5%0. 6+0
EAEE10emLA T B 0.900 m2
5 EIHEEI] BHO0.20m3 PR THI=ZE F+lg+%E=1. 5%0. 6%0. 81
)= 0.729 m3
6 B (Fh I ) BH0.20m3 R TUL=E Rexfigx4=1. 5%0. 6%0. 46
Tyiay bR g 0.414 m3
7 ERIERE (B ) BHO.20m3 M5 T US=4E Esg*ZE=1. 5%0. 6%0. 25
RC-40#L & + & 7 5 [E g 0.225 m3
8 BB (Fhg I ) BHO.20m3 R T U4=4E Rexfigx4e=1. 5%0. 6%0. 12
RC-40H R + & o\ [ 6D Ve 0.108 m3
9 EEIERE (WHIERE)BH0.20m3 PR RAZERR (GHaR ) =4t B Wi Afi=— 1% 1. 5%0. 002
Iyay R ER )= -0.003 m3
10 FEFRFEIEME As BER LS5 (BRAEINER) =Tk A= X =0. 9%0. 05
)= 0.045 m3
11 ERRBEFEWALEL As BEA AL S5 (S 1R =R i Fix 5 & =0. 9%0. 03
)= 0.027 m3
12 PEREALEEIERE BH0.20m3 DTr4t BER E M (PR HED) =l A+ < =0. 9%0. 05
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.045 m3
13 PEREALFLEME BH0.20m3 DTrdt BEAA T (A5 1) =Rl i Fe /R X =0. 9%0. 03
AsHil - Codifl (%) 2.0kmPA T DIDA & 0.027 m3
14 384 15EME BHO0.20m3 DTrdt T - ER=T1 45 +H2 45+ T4 45 B HA ) 2545 =0. 72
17 9.0kmLL F DIDA g 0.729 m3 9+0+0+00
15 &fdE T (HEE-¥E) 3cnl /@ A IH=JE F* g+ A I =1, 5%0. 6+0
BRI EAs I )= 0.900 m2
16 Ei%ET (HE-HE) Sl )E AR IH=E F+ g+ E A N BR=1. 5%0. 6+0
HEBRIEAs 7 T745 P 0.900 m2




